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Match the functions of List-I with their nature in List-IT and choose the correct option.
List-1 List- 11

A)  f:R — R definedby f(x)=cos(112x—37) 1) Injection but not surjection

B) f:A— B defined by | f(x) =x|x| when IT) Surjection but not injection
A=[2.2] &B=[-4.4]
C) f:R — R defined by III) Bijection
F(x)=(x=2)(x-3)(x-5)
D) f:N >N definedby f(n)=n+1 IV) Neither injection nor
surjection

V) Composite function
ZRer-15°) HHdirod wder-IIS° 578 Serdod” 28500, SOTE 2T V) JS)F bw.

e -1 dar- 11
A) f:R—>R «38 f(x)=cos(112x—37) I@s?ﬁﬁé:ﬂa, 59 BolrHsD 5%
m AEDSIIG Q

B) A=[-2.2] 5850 B=[4.4] @wééjéa&%) HoHsw, 50 eBEsn 5%
f:4> B ©38 .f{x}:x|x| Bk mdﬁ@é@

C) f:R—>R O3 f(x)=(x—2)(x @5) III) &grven R00soskw
m ﬁ}ﬁ‘sﬂé@é&

D) f:N—>N o368 'f(;r}:n@ IV) o388 s,
M AECRETIG @ QDoiKar 578
A V) Hoosog Baahiss

Then the comrect match 1s
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If [x] denotes the greatest integer function. then the domain of the function

x —[x]
(x)= ; 1S
! log(x" —x)
X X
[x] @36 K64:rg Sopg BHooSBnb e, f(¥) = ?[ ] o3 BIocHsn B
o £ I'Dg{.\_ = 1}
HBF5w
Options
(1.e0)
1.
£, (1,00) =2,
i 1-45 144/5
"B 8
=
l—v@ x/?+1
2 7 2
4
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Assertion (A) : If |x| <1. then Z(_I)ﬂxnﬂ = 5
o) x+1
Reason (R): If |x|<1.then (1+x) " =1—x+x>—x>+...
asdcsn (A): |x|<1 wond, Y (-1)"x"™ =
n=0 x+1
s*¥=0 (R): "x‘ql oS, {1+x)_1:1—:r+x2—x3+...

Which one of the following is true?
Bod TS B HSgH0? o
Options: '»
(A) and (R) are true. (R) 1s a correct explanati@/% (A)
1 (A) 5080i0 (R) ew Bodsr S&gdwen. (A ) S80S Ddeo.

(A) and (R) are true but (R) 1s not @ecr explanation of (A)
| (A) 50000 (R) 00 Bodk» $83 {2 (A% (R) 50508 2580 5.

(A) 1s true. but (R) 1s falsy@
] (A) S35, 570 (R) ed8gshn.

(A) 1s false. but (R) 1s true

(A) oddgd0, 570 (R) Sdgbw.
4.
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i 2 8
IfA=|1 3 5]|.then(Adj(AdjA))™" =
2 1%
1 2 3
A=|1 3 5| wond, (Adj(AdjA) =
2 1 6
Options:
'1 § % 3
18 1 =3
G
-5 3
1.
1 13 =9 ]
14 @ =2
6
u5 3 1
z.
1 13 -9 -1
=44 df -2
36
-5 5 1
=
4 =3 2
e A S
12
-5 2 1
4.
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- it |

X +3x x4+1 x-3
2

If | x-1 2—x x+4|=ay+ax+a,x* +asx’ +a,x*. then

x—3 x—3 3x

.[nl +n3)+2[aﬂ+a2+n4]=

43¢ ¥4+l x—3
4 i 2 3 4
2—x x44=a,tax+a,x tax +ax 2500,

1
x—3 x—3 3x

.(ﬁl +a3)+2[nﬁ+ag+n4]=

-1

(1/

1.

-29 &@
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Let AX = D be a system of three linear non homogeneous equations. If |A| = 0 and
rank (A) = rank ([AD]) = «. then

AX =D 38 Sori oddoderd, 8508 dLidndne D598 o8 Sod0w. |A| =0 58050
— @

56 (A) =58 ([AD]) = adwond, o3y

Options:

AX = D will have infinite number of solutions when o = 3.

o=3wocnad, AX=DS§ @E‘éoé@_@;‘éé’ﬂ FHden dolron



AX = D will have unique solution when o < 3.

o <3 wond, AX=DS8 J55 & Gotnod

-

AX = D will have mfinite number of solutions when o < 3.

; o<3wonad, AX=DS§ ©S08I) FESL0 dotrow

AX =D will have no solution when o < 3.

o< 3wond, AX=DB8 &35 sodd
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If x+ iy = (1 +7)° — (1 — 7)°. then which one of th wing 1s true?

QO

x+iv=(1+)%=(1-1° ©ad, b Ju:.:l;(.g DS gB0?
Options: Q@
x+y=16 @
1, J
x+y=—16
e

2
x+y=-3
3
xt+y=8
4
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APy Gl

Options:

1



Question Number : 9 Question Id : 7512364169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 1. wand @ are the cube roots of unity, then (@ +b+c) (a+bw + c?)a+bw®+co)=

2

1. @ 508050 @ e €80 G300¥), Poddoreran wad,

(a+b+c)(a+bo+co?)a+bo’+co)=

O
Y
3 S

Options:

&AW
:;
a +b+ ¢ —3abc

(a+b+c) —3abe @v

1
a +b + ¢ + 3abe
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If a, = cosa, +isine, . k=1.2.3 and a,. a,. a, are the roots of the equation x* + bx + ¢ =0.

then the real part of b =

a, = cosey + i sinay . k=1, 2,3 5008050 a,. a,, a0 HDoEdw0 ¥ +bx + ¢ =0 B,

3
Soreres wond, b B T8S o =

Options:

= |



NI
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i

- ; i A x+3
The set of all values of ‘a” for which the expression : assumes all real values
2x—-3x"+a

for real values of x 1s

ax? —2x+3

TRE dendeos x K, O Dm0 @S}P‘;%},ﬂmé@zﬁo E30FJodose, ‘a’

2
2x—3x"+a

cﬁ:uézr Eg?)_ eV VS

Options: Q/
23] @Q

. R-(2.3) @Q/v
A

- [L5]
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If both the roots of the equation x* — 4ax + 1 — 3a + 4a” = 0 exceed 1, then a lies in the
interval

Y —4dax+1-3a+4a’= 0 B8, oo Srered 10 Dood “od, SRS a<oa wosdo

Options:



3
2
7-417 1
§ 0
=

O
) (19'\’
A
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If the cubic equation ¥° — ax* + ax — 1s identical with the cubic equation whose
roots are the squares of the roots 01&?@311 cubic equation. then the non zero real value

of ‘a’ 1s
Yoo’ +ax—1=0e3 @é}xbaéseam BoBoh0 B8 HoddDoECndn B, Srere
Sorod Surereom fe Hddaitndn JERHErsS8, elvd ‘a’ Gwg), rIgEd TRd

ah

eI

Options:



2 | =
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If o B. v are the roots of the equation x° +px” + gx +7=0. then (e +B) B+ V) (y+ o) =

o B.ye0 X +px° + gx +r=0e3 HEésn S0, Swreren wond, (a+P) B+ y+o) =

Options:
B —qr

1.

, F—pPq '\O;)
q—ip Q

: V
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Let x denote the number of W/'(@ arranging m boys and m girls in a row so that no two
boys sit together. If y and = give'the number of ways of arranging m boys and m girls in a
row and around a circular table respectively so that boys and girls sit alternately. then
xiy:z=

Mereodd, MmerdEoln @ REPE et Y E,S Shom GoBioty w SHdeS® eladyidn
QT Dopgin xorldoh. m et $o8on merdiod, wrendd 8w wrdion w80
S8 280 (Q5osBSnm) I o wf SVS Er b wE Mo we hapds

=

@G

DGHHOR AT Sopgod JHBM ¥ Hoain e Wiy, e X1y =
Options:

w1 smrm—=1



2
m—1:m:2
)
(m+ Dy :2m: 1
4.
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The number of even nuumnbers greater than 1000000 that can be formed using all the digits
1,2,0.2,4.2and 4 1s

1,2.0.2, 4,2 50000 4¢3 odol ool ¢o@3rhod bfﬁgérﬁﬁ@ﬁ 1000000 €03
?o:ggé DODopge dopg q

Options: Q'\/

, 120 &q,

_ 240 Q((/
310 @

3 Q/?*

, 480 &@
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The greatest integer less than or equal to (\5 + 2)5 15

(J§+2)5 0B 85,

A

BT dArSiodtog KB roso

Options:

721

722



724
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10

The sixth term in the expansion of LB, - g +34/2 J is a

| 10
{3—,}%@ 2} Sk, DYERED BES HE5H 0.8

(1/

G
Pl

positive rational number

$TE)E o¥SBo Bopg

negative rational number

wea*é&é e ¥ 05 Lopg J

2
positive trrational numl}é(\
eﬁa“éé}é E88ass éo::,:g

3.
negative urational number
E:OJE‘T@&_S E8sHo5 oopg

4
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L&t

: = o ST 54 A —+ Ay - . Then consider the following
[ A P P
statements :
1)  Allthe A'’s are not distinct

1)  There exists a pair. A, and A such that Ai = A; (p#q)

2 1
111) ;Af:g

4
v) ZA:'ZI

i=1

1 = o W >+ A3q+ i — @8 0sm.

N P T N NE iy
eyt & Bod PIvToR E0d f\,
) Aw o) 2dTe0 5 (19

i : 2 . .d 0
1) .AP —Aq(pi(j) edloglada Apj Aq@3 @é éﬁ,sn}gééﬁx).

4
1
i) A= &J
i=1
4
v) ZA:' =1 Q/?~
i=1
Which one of the following i{‘m?
& Bod TS’ A HSgH0?
Options:

Only statement (1ii) 1s false
B35S0 (i) Srgd edsgsn

Both the statements (i1) and (1v) are false
(@558 S0e0 (11) S08cin (IV) o Sodkr eddghnen

Only statement (1v) 1s false
©5BS80 (1V) SMED odEghw



Both the statements (1) and (i11) are false

[T

@&SdSmen (1) 50800 (111) oo Sodr eddgtnes
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The period of cos (x + 8x + 27x + ... +1°x) is

cos (x + 8x +27x + ... +1'x) G0y, s5880

Options:
27
, N
2
n*(n+1)>
2)
ST
”2(” - 1}2
8
i (n+ ljl2
4,
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Sin’ (3%) +Sin(6°) + Sin*(9°) +...+Sin" (84°) + Sin* (87°) + Sin~ (90°) =

Options:
31
£

1.

39
3
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T 2T 3T 4 S 6T

COS— —C05— 4008 ——CU058— 4 C08——=—€08 ——=
i 7 7 7 7

Options:

0

[ S

S
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The number of integral values of & for which the equation 7cos x + Ssinx=2k+ 1 has a
solution is

Teos x + 5sin x = 2k + 1 &3 308608 .8 3PS Sodms Jodhy kg, ool

QOIBO Doy

Options:
,_1_
1.
6
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1 ¥
SE‘C(THH 1'7) =

Options:

1,
2,
44y
2

3,

4—y?

2

4,
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o e e :
The number of roots of the equation /2 + &% ¥ — 52 > _ 0 is

([

' T i e
N2 g T T S SD5E8w B, Sorere Dopy

Options:



1.

1
2,

2
3

3
4,
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A wire of length 44 cm is bent into an arc of a circle of radius 12 cm. The angle
(in degrees) subtended by the arc at the centre of the circle is

44 200.50. &YKo 28 BKS, 12 Do.Do. FgRrgsn ﬁa@ty@nmm Sowd. S8 Boigo
58 % ooin FH Fobw (BHes) a):

o o
3 3

3 . Q/?‘
EIE

s
2
150°
=%
]
y 2
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In any triangle ABC,ifa:b:c=2:3:4, thenR:r=

BT @ghudn ABCS®, a:b:c=2:3:4e008, R:r=

Options:

4 @
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Corresponding to a triangle ABC. match the 1IW en in List - I with the items given in
List - II. C ]

§ @ebadn ABC § ediboom o) IS a8 woidwod, wrde - II & agd

F5008 26B30%08. <(/

E_'l

&0
List-1 &g List-1T
erdee -1 erfe - 11

A m=n ) ZA=90°

B) vtr=i-r I »=c+d

€ r=rtIZR I zC=90°

Ny ZB=120"

The correct match 1s
D0 mond 6

Options:

A B C
I III I



, I 1
A B €
g 1 I
& B @
m I IV
4,

Question Number : 29 Question Id : 7512364189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let the position vectors of two points Aand Bbe @+ +¢ and @ — 2b + 3¢ respectively.
If the points P and Q divide AB m the ratio 1 : 3 internally and externally respectively.

then 3 E‘ =

A 58050 B o3 Bod Dotode yEdbIes $EMT a+b+c Hobosn a-2b+3¢

oS85, ABI PHodcin Q 93 D06upr NI I8s” S6dm eodbords Sodokin
erdrgords Jefew, 3 AB| =
Options:
4/pQ|
1
3 PQ|
2.
o
=B ‘
e
3
2|PQ
4.
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If @. band & are three non-collinear points and ka+2b+3¢ isa point in the plane of

a.b.c thenk=
a.b 50030 T oo SEHcSren 59 Sy DodPen $6csw 7,0.T o dosns’
ki +2b +3¢ ok Do o8, sy k=

Options:

4

) O
N
A
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If the vector @ = 37 + 4k is the su 0%0 vectors @ and @,. vector @, is parallel to

b=7+7 and Vﬂ:tﬂfﬁz is perperdicilar to b . thenﬁl =

<~
[l

37 + 4k o3 264, a /&%:n T, 03 Bodd HBF0 Bndo ©HSE>, T H0F h=T+7

o

b L

\-_‘_f".
AP0 20dos

&

), ©8F b K vowdn wond, iy @ =

Options:

3(T+7)



_
=(7+7)
J

=,
(7 +7)

4
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The angle between the line of intersection of the two planes 7.(27 +27 —3k)=5.

7.(37 +37 — 5%) = 3 and the line F =37 427 +k +4(57 + 57 ~7k) is

(21 +27 -3k) =5, .F_(3?+3F_5E):3 e dod Sofidy modd TpH So8o%wn
F=31+2]+k +1(51 +5] — Tk) =3 3ps Loy o LD
Options:
ol S
Cos 1[—]
28
3
Cos™ 1)
(V17499
2.
P
2
=
z
3
4.
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&

XX=FXx and r
538050 T =37 — 2k 05055050, wond FXT=F XY 300050 FXV=XXy

HSa: V21 H8Sresor o 984 F ol

A4

=
T +47-2k
F-AT-2E

>
&‘1/
&
@

2__
Question Number : 34 Question Id : 7512364194 Question Types, MCQ Option Shuffling: Yes Display Question Number : Yes
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The acute angle between 7 = (-7 +@2 AQ2T +37 +6k) and 7.(107 +27 —11k) =3 is

=(—7 +3k)+ Q27 + 3}+6ﬁmm 7107 + 2j —11k) =3 o H&g8%a%50

J



Cos"l[iJ
21
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15 15
In a data with 15 number of observations x,. x,. x,.....x;s. » x;7 =3600 and > £=178

i=1 i=1
[f the value of one observation 20 was found wrong and was replaced by its correct value
40, then the corrected variance of that data is

15 ; 15
w8 SEofdnS’Y 15 H8roden x, X,, X;. .., X K0 er — 3600 X805 Z.TJ. = ¥rS.
i=1 i=1

20 DewsKe w BOsOSK ST KHB0D TR FHoS® HOERLS Jwos 40 B0DE, ©
BE20850 BwE, 50 wand IS Q'\/

Options: (1/

151

S

144

Question Number : 36 Question Id : 7512364196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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If the coefficient of variation and variance of a frequency distribution are 7.2 and 3.24
respectively. then its mean is

a8 YDy JTradn DY, JoTrolo HBlw IPBwo &M 7.2 odadn 3.24
BoN8, TR DEgLoh0

Options:

45



16
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If five dice are thrown simultaneously. then the probability that atleast three of them show
the same numbered face is

eond FREo 80 5"@?_?, @iy Tr8S” §Ado Drds FREL D 28 @osh AOAS
SoopAnen HEEAE fo Sogrdgd q
16 q/Q

i 64

2| @v
226
Gl 2
=
123
b
4,
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If two unbiased dice are rolled simultaneously until a sum of the number appeared on
these dice 1s etther 7 or 11, then the probability that 7 comes before 11. 1s

Bod A8E rdfed, i ST wodo Jogo 7 8ar 11 S0ddoB 565 & Bokodd
50D FRoUTA) FIrh @, @Yo 11 08 Swotor 7 ordarads e Sogrdgd

Options:



O

Question Number : 39 Question Id : 7512364199 Question Type: MCQ Option Ep@g : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
A box contains 10 mangoes out of which 4 are spoilef&angoes are taken together at
random. If one of them is found to be good. theu@ probability that the other 1s also

good. is Q/
a8 DB o 10 S odBedS” 4 FRID @Eéﬁ $o08 cSrdyngom 2 S dobdodi
26 Basoado. ES* 288 moaaé/&@aocz:;a ot 0006 S5TR8E Ko Boerdsd

Options: @

1
3
1.
2
3
2.
8
15
=
5
13



Question Number : 40 Question Id : 7512364200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two dice are rolled. If a random variable X is defined as the absolute difference of the
two numbers that appear on them. then the mean of X is

oy e Flotiaddd. Wéaﬁ&é Sotrd X, & Bod >rliow ééﬁgoiﬁ BOB W
PB0 B, Bk Swrvgor AN, wdyde X BwE), Soeghebwn

Options:
0
1.
13
18
2.
19 ,\O,)
9 Q
3 %
35 (</
18 ( )
4, @
Question Number : 41 Question Id : 7512364201 EType: MCQ Option Shuffling: Yes Display Question Number : Yes

I
Single Line Question Option : No Option Orientation \Yertical

If getting a head on a coin Wh& 15 tossed 1s considered as success, then the probability
of having more number of failutes when ten fair coins are tossed simultaneously. is

06 BE0S SIS TP T ENTETN BT R, SRENBD 58 TBEWOKH
2,840 Sﬁod?ﬁ?&éﬁﬁjé& Lbodwe dopg SIS Godirdd Ko Dogrdgd

Options:

105



29

=,
638
50

4
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The set of all points that forms a triangle of area 15 sq. units with the points (1. —2) and
(—5. 3) lies on

(1,-2) So8c8: (-5, 3) DooHed’, 15 3.05070¢0 STogoiio (@5 :)5;]5{3 DodoPen
EE@JG&SE& §9 GOBH q

Options: '»

Sx+6y+23=0 a)y

%
| Gre6y-23) (5x +6v +37)=0 ®C)
25x% +36)” + 24x — 30y — 227 Y
S &®

Sx+6y—37=0

Question Number : 43 Question Id : 7512364203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Suppose the new axes X. Y are generated by rotating the coordinate axes x. y about the
origin through an angle of 30° in the anticlockwise direction. Then the transformed equation

of x*+ 2\/511 — 3% = 2a” with respect to new axes X, Y is

X,y AEr08 ool Srodohy) Sy $565S° 30° Fpod® ghomo Tudhydh téb)todly
5085 vy X, Yeossod. oiyk srés oxes X, Yo 83xs, x2 +2v3xy -y =24
Toog), DOBLD HabEGes0

Options:



RI4¥" =25”

X2+ 23XY-Y? =24
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Single Line Question Option : No Option Orientation : Vertical

axes are rotated through an
the line L makes intercepts

A line L makes intercepts a and b on the coordinate axes.
angle 6 in the positive direction. keeping the origin fi;

1 1
p and g on the new coordinate axes. then —+—5 =(1/
G é
a.b e Leld e Op A8rdvson §Cﬁuéd poen. LrododoPse JES0m
Soddr, Jad)8 O¥S” AErHETT W % WO (P00 Boaddd, Srdsd ArdsTTow

1 1
Sp L3 w08 pomen pﬁ;&%%wé, = +b—2=
Options: &
1

r’q’
1.

i_ 1

pz qz
2,

4,1

pz qz



pq
P +q
4,

Question Number : 45 Question Id : 7512364205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If m,. m, (m, > m,) are the slopes of the lines which make an angle of 30° with the line

joining the pomts (1. 2) and (3. 4). then Ll S
m,

(1, 2) 2ocsn (3. 4) QohPeod 8w Spd’, 30° Fadon T Spo Twwd Ny, N,

m
(m; > m,) wond, by —L=
- m
2

Options:

O
2443 \'
3

Question Number : 46 Question Id : 7512364206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfA(-2.1).B (0,-2), C (1, 2) are the vertices of a triangle ABC, then the perpendicular
distance from its circumcentre to the side BC is

A(=2.1).B(0.-2).C(1,2) en @ehmsn ABC Bwg), §85men wond, T H05y880(65»
S08 g BCE fo vondrdsn
Options:
7413
22




Question Number : 47 Question Id : 7512364207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
. 3 2] ; = o .
If one of the lines ax~ + 2/ixy + by~ = 0 bisects the angle.between the positive coordinate

axes. then

ik
>

w "
ax” +2hxy+by” =0 3pes® o8 Ty, &

@Lﬁj{é&
Options:
a+b=2h
1,
a—b=2|h|
2

(a+ b)Y =4i°
(a—b)* = 4K
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The equation of the pair of perpendicular lines passing through origin and forming an
isosceles triangle with the line 2x + 3y =6 1s

Drododd omdrdr, 2 + 3y = 6098 ol SHdgrio Beherd) 608 HEd o

©IOLIOM 08 VP oINS SaoEdno

Options:

5% — 24y —57=0
1

47 —12xy —47=0
6> —5xy—6)°=0

9%* + Sxy— 9> =0 Q\'O)
(1/

Question Number : 49 Question Id : 7512364209 Question Type: /%tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If one of the diameters of the circle x* + 18 CZ& — 6y + 6 =01s a chord to the circle with
centre ( 2, 1), then the radius of the big@r‘cle 15

C+HyY —2x—6y+6 =038

—0

i\:@& 28 g, (2, 1)Sogorr Ho S5)emds wl oy

b
i 2 apt = T e
@008, by Y $yds0 t%éz, EENSHORY

Options:

6
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Single Line Question Option : No Option Orientation : Vertical



The line 3x— y + k=0 touches the circle x> + 37+ 4x— 6y +3=0.If k. k, (k, <k,) are the
two values of £, then the equation of the chord of contact of the point (&,. k,) with respect
to the given circle 1s

X+ +4x—6y+3=0 5)E0 3x—y+k=003 3y By38306. k S308), Boks Denden
k. ky (k; <k, @o08, &g BF oo Syrs, (k. ky) Do BoE), S8 =g HDEE0

Options:
19x+y —18=0
x+ 19y —3=40
2.
x+16y —56=0
3.

>
) 20x+ 18y —7=0 &q/
<&

Question Number : 51 Question Id : 7512364211 Question T Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertic

If the line ax + by =1 is a tangent to l?elrcle S, = x>+ y* —* = 0. then which one of
the following 1s true?

.Sr =x*+ 1" =1’ =0 3T08 ax+by=125 550 wond, & Eod TS’ AG SEgH0?

Options:
(a. b) lies on the circle S; =0

S; = 058509 (a.b) Gotnod

(a. b) lies inside the circle Sy, =0

.S% =0 9)e=8 woddom (a. b) trotwok



(a. b) lies outside the circle S, =

S, =0 5)@08 erirgorr (a. b) &otwod

(a, b) lies on the circle '83 =

S; =0 53850 (a. b) &otod

-
0

Question Number : 52 Question Id : 7512364212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Each of the two orthogonal circles C, and C, passes through both the points (2, 0) and
(-2, 0). If y = mx + ¢ 1s a common tangent to these circles. then

C, 300050 C,od wondymes Bodr (2, 0) 508050 (—2,.@ Koom Feoamon. & Dok
SHEed 508 SYBy ¥ = mx +c @ws, (19

Options: &
. =4(1+2m C)Q/

X & =2(1+2m?) @$
&

=14 n?

cm* =4 (1+nr)
4

Question Number : 53 Question Id : 7512364213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the circle whose diameter 1s the common chord of the circles

x+y*—3x+y-10=0 and IIE +y*—x+2y-20=0 is

249 3y —1020 SBun xEy —x42y-20=0 DTO GBNE g
Fgddom KOAS Jydo HAoEBEa S

Options:



2492 3x+6y+15=0

1.

P 4+1? —6x+4y+10=0
2

o

x +y —9x+2y+20=40
3

-

x4y ~9x—2y+20=0
4
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Study the following statements.

- 2
I The vertex of the parabola x =y + my +n i [n Ll _ﬂw

4l ZEJ

- l'/ l-m®> m)
; o Tt ; : sup e
IT.  The focus of the parabola y =[x~ +mx+n 1S Ln ¥4 EJ

III. The pole of the line /x+ my +n =0 with respect to the parabola e . 4ay 1s
'[_2_':“’ )
m o m

Bod BadTrod S87dokod.

L '1.:{1:2+:1.{1’+n DT HOARBD G0, %%ﬁ(}:\/&@:?;}
& I/ 1—m? nﬂ

I ..1:i{-2+ X+ 1 DOH© 0550 ﬁwé@é& n+ S
y=IixT+mx+n L) L m; ZJJ

m m

g . 2al n
O  x" =4ay 30300580 ﬁg@?ﬁﬂm% n=0 B&, B0 | T

Then. the correct option an(@? the following 1s
®owd, & Bod T°AS* B0 voaud odEsw

Options:
All the three statements are true
U0 B Segdw

1.

Statements I & IT are true but III is false

Wdiidsoen Isain ITew d8gdw, 520 T eddghn

Statements I & IIT are true but IT 1s false

5585000 T500so T eo Hegs0, 50 I eddgsn
=,



Statements II & III are true but I 1s false

B5855000 500050 M en S8, 8 Tedsgsm
4.

Question Number : 55 Question Id : 7512364215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Let P represent the point (3. 6) on the parabola y* = 12x. For the parabola y* = 12x, if A
1s the length of the normal chord drawn at P and /, 1s the length of the focal chord

drawn through P. then ;Ti =

2

3= 120 SorSeo0iop (3. 6) Dot Piérddged. 2 = 12x dordocsrds P5g ADS
-
l

edoow @y PEY [[H00csw Phoae ADS ey FEDY [, oond,

Options: '\/

Question Number : 56 Question Id : 7512364216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2 2
A tangent is drawn at [;.J_ Cosé. Siné) (0{ 6 < ) to the ellipse %+1T—1 The
2

value of 6 for which the sum of the intercepts on the coordinate axes made by this tangent
attains the mmimum. 1s

2
¥

2
¥
—+—=1 &d%@“c‘aé (3\/_(?0-36' Siné) (0«:9{: f) Do S

ED’»

27T J(ﬁﬁ:p Acs&S.

& ﬁ&ﬁﬁ):ﬂ AErSTToR TR 0088 pore Ingo §J%0 edog 0 Dend

i



Options:

e
6
1
S
2.
2
3
=,
2
4 4

O

Question Number : 57 Question Id : 7512364217 Question Type: MCQ Opti uflling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical (\{

A line perpendicular to the X-axis cuts the CV% x> + 92 =9 at A and the ellipse
4x? + 9y* = 36 at B such that A and B lie in the/same quadrant. If 0 is the greatest acute
angle between the tangents drawn to the curges & A and B. then tan 6 =

A Sobosw B o a8 Fdod® woBionms Qgﬁ'}g o0 ol o Op, X2 +12=9ed
SHE) ASE S8 4x2+ 97 =3 §5y5%) B¢ pod@od. ABodoi Bo 5¢ e
SEoot ADS &Jéﬁaspﬂ &Cﬁ/@&@ w00 O o8, ey tan 6 =

Options:

L3
12
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Question Number : 58 Question Id : 7512364218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2 2
If e, 1s the eccentricity of the ellipse I_ﬁ + E =1 and e, is the eccentricity of a hyperbola

passing through the foci of the given ellipse and e,e, = 1. then the equation of such a
hyperbola among the following is

g 2
;_6 +-;_q =1 &3 8y S)so Ay, BF0EE e, 500k0 68 B S)do TY, T HoTFdr,

=l o@ogbrtn &) edicioucho @g) 8 odd e,wond, §ob T8S" Birod

O
- &
pthns.

£, &V
L9 16 &

._1'2 .TE @

9 16 J
z.
&

2
w8 ediodeociho cﬁa:ézr HH €800

XY
g 2 23

2 9

=]
;. 253
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Single Line Question Option : No Option Orientation : Vertical



If (1. 0.3). (2, 1. 5). (-2, 3. 6) are the midpoints of the sides of a triangle, then the centroid
of the triangle 1s

o8 Babadn Gy, dhere ¢y Hododen (1.0, 3). (2. 1.5). (2. 3. 6) ©won8d, s @gbao
S0og), Bo(Eerduun

Options:

(1£_5)
23" 3

el
| =

W |
| E
o

TE
e
<%b

) |

Tad

@115}
N 87373 @

Question Number : 60 Question Id : 75123642 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orj tign : Vertical

T
If a plane P passes through the points (1. 0. 0). (0. 1. 0) and makes an angle A with the

plane x +y = 3. then the direction ratios of a normal to that plane P is

Ped a8 doo (1.0.0). (0. 1. 0) DoddHe HomFdr, x+y=3. 8008 — S0 dn o

T
4
oo PSBoog), a8 vdoowo Buog), &5 Qe

Options:

L2,



11,42

1.1.2

J2.1.1

Question Number : 61 Question Id : 7512364221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A variable plane is at a distance of 6 units from the origin. If it meets the coordinate axes
in A, B and C. then the equation of the locus of the centroid of the A ABC is

nf FONY) dwo Drododhy Hod 6 chrdd Srsodywoh. 28 ASrVsFON

A BSobdosn C&* pody, AABC Gws), Solaraoe Qo )Docoddhn $08800

Options:
i.2.0
© 5 =z 4

1.

AP gzt

3
l,,+ ]2+ - =1
x o =2

3
1 2 P
2y 2 4

4

Question Number : 62 Question Id : 7512364222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3|.r| +1

2x-1
22 1344 |2

lim| — - =
x=eo| X7 —3x+35

Options:



2,
3 3

2
4,

Question Number : 63 Question Id : 7512364223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

'\cﬁsh for—ec<x<0
e for 0<x<3

e
If “a’ 1s the pomt of discontinuity of the ﬁmctmnﬂ{): P2 Axs3  FoF 3E%<26

@C)Q/ log ﬂjj; 5 for x>6
v

then. lim x4 a @
=35y 41949 %
cos2x , —ooLx<(8
3 . O<€x<38
= 2 apas . SLagge
o
log(15x—89) b
x—6

' 2
¥e P30oirIE QO Do ‘@’ 208, edydy lim X =4 "
: x—a _3 2 -
X =5x"+9x-9

Options:

|



2
6
3
.
3
4

Question Number : 64 Question Id : 7512364224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

lim d_‘ Lt

If y=(x+ D2 +D(x* +1)(x* +1), then 1M =

- g s
y=(x+D)E2+D(x* +D (x5 +1) eond, lim 2¥ _O

x——1 E N
Options: (b

Question Number : 65 Question Id : 7512364225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

f(x) is a twice differentiable function such that £”(x)=—f(x) and f’(x)=g(x).
If h(x)=(f(x))" +(g(x))" and k(1) =2. then h(2) =

.f"(-*f] =—f(x) S080%0 'f’(."r) = g(x) edghitn f(x) @36 o) eS8odcitoddy
©00050 h(x) = (£ (%)) +(g(x))” S0050 h(1)=2 wond, vdyd h(2)=

Options:



Question Number : 66 Question Id : 7512364226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 1_JT+J1+J1+J ...00 mml———

. 'rﬁ'
1‘:\].1'+J1‘+\/.T+Jr+...oo wond, 75
: ' : a%

Options:

3
¥ —x

2
2y —2xy+1

1
X+ ITB
il il
2y° —x
2
y+x
¥ =2
3.
2
¥

2y° —2xp-1



Question Number : 67 Question Id : 7512364227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tangent of the angle between the curves xy =1 and x* + 8y =0 is

2 ] 1 |
v =150 ¥+ 8y =003 S HfgEao Bng), roBol

Options:
1
7
1.
J:
7
&
=3
3
7
4,

Question Number : 68 Question Id : 7512364228 Questice/Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatigh :/Vevtical

The slope of the tangent at (1. 8o the curve x=¢>—7t+7 and y= t* —4t—10 is

(1.2) Do 38, x=t>—Tt+7 58650 _1':r1—4r—1[} 35708 Hdd HySoparen

Options:
8
1. 3
g
8
Z;
_8
5



Question Number : 69 Question Id : 7512364229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the function Flo)= 7% — 32 — y+1 and the intervals

,=[-1.0].L=[0,1]. =1, 2]. ,=[-2.-1].
Then.

-f{:r):2:r3—3x2 —-x+1 @30053“%} L=T4,0].L=01L5=]L2] ;=12 1]
wogored 8d5%06. @Ry,

Options: q
f(x) =0 has a root in the mtervals I, and I, only '\’
f(x) =08 a8 Sooredn I 5000w I, wodoe $30 Gotod

. A
J(x) =0 has a root in the mtervals I, g@z only

f(x) =08 a8 Soreodn [ ;.’.w::rf.‘u:f)&~
Z @

f(x) =0 has a root in eva@ewal exceptin I,
fx) =0% o8 Sorodn [ S5 HAOS (8 ©o880s” rotnod

Bodoree” SrEgo totnod

f(x) =0 has a root in all the four given intervals

f(x) =08 &8 Srodn 88 vodtren Qo8 S trotwod
4,
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- r+1 2
If f(x)= L+ e’ di . then the interval in which £'(x) is decreasing is

)= J':“e—’chr w008, f(x) w56 ndy vodEsw

Options:
(44
5 2
1
(== 2)
z.

Single Line Question Option : No Option Orientati

%——sin—
If J.CDSTJHJ f(r)+f§ 2 dvsc. then f(x) =

1+sinx cns—+sm—

Question Number : 71 Question Id : 7512364231 Q@pe MCQ Option Shuffling: Yes Display Question Number : Yes
tical

“ﬂosi—smé

=f()+ |22 dv+c oowd, oyt f(x)=
COS—+SIn—
2 2

J‘CDS Y+x
l1+sinx

Options:



1+ tan—
2
1.
"
X COS —
2
o
COS— 4+ S1—
2 2
2
2x
1+ tan—
2
=,
X
T COS—
-
COS— + Sl —
Ly

Question Number : 72 Question Id : 7512364232 QuesiornType: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientationd Vértical

| J‘«..f' cos2x .

S X

Options:

1 1 \/_Jw‘]—tsm X 1 l— l—ranlnr+ﬁ
\f_—x.-‘]—tml X 1+~»J1 tan” ¥

1 \/_Jm.#l—mn X Liog 1++/1—tan? r‘
-\/_—\i'l—‘[ﬂll x 1—4/1—tan? *r‘




1 \E—u‘l—tmllirl 1= 1—tan® x

_l{jg —lo
42 V2 +1-tan’ x| 2 L—1+\/1—IEHIE-‘*‘

+C

3.
1 ioe 2—\fl—tanzr+ | 1gcl_ql_tﬂﬂzr+c
NG 24 1—tan2 v 22 Tl1++/1—tan?x

4

Question Number : 73 Question Id : 7512364233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. e -
IfJ- [“:H“_) ———dr=—— s e then 24—
x(x+1)(x+2)(x+3)+1 pXT 4+ gx+r 4

2x+3 B

J. 2% 4] = tec wond, £

y(x+1)(x+2)(x+3)+1 px” LY 3
Options:

0
1.

1
2,

2
<3

—1
4,

Question Number : 74 Question Id : 7512364234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I(lﬂg .*r]1 dx =

Options:

xlogx—2xlogx +¢



xlogx+2xlogx+c

2.
x (logx)* =2y (logx—1) + ¢
3
x (logx)* + 2x (logx— 1)+ ¢
4.

Question Number : 75 Question Id : 7512364235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

— k
lim» ——=
n—e = 0% + k2

Options:
ilﬂgl
508

1.
2log2

2.

1
—log2
- e

2

3
3 log 2

4,

Question Number : 76 Question Id : 7512364236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

10
-[(5 —4/10x —x? )cfx =
0
Options:
50-25m



(100 —25 m)

2.
Li00-257)
- 2

s
l(100—2:er)
,_1_

4.

Question Number : 77 Question Id : 7512364237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Area of the region (in square units) bounded by the curves y = Jx. x= JT and the lines

=1 x=438

w

y=~x,x=4y &3 SFTeo bt x=1,x =4 S Prpod H00ES FrodSn B

Fogo (€.0500000 )

el

Options:
8
3
1.
2
3
2.
16
3
=
u
3
4,
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The differential equation representing the family of circles of constant radius r is

RETg>Eo T o S)E Botwowrd) Srdof edfel Ba0Ebno

Options:

2
},2.1__,” =P [1 i [‘]’;)E:I

Question Number : 79 Question Id : 7512364239 Questi e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiop”: Vectical

The solution of the differenwlmtiﬂn Rx—=3y+5)de+(Ov—6x—T)dy=01s

(2x—3y+5)dx+(Oy—6x—7) dy =0 &3 oS80s SESwo BwE), FES

Options:

3x—3y+8loglex—9y—1|=¢
1

3x—9v+8loglex—9%v—1|=c¢c

3x—9% +8log|2x—3y-1|=c



3x—9% +4log|2x-3y—1|=c¢

Question Number : 80 Question Id : 7512364240 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

The solution of the differential equation +f1— y*dy+xdy—sin™ y dy =0 is

1—y*dx+xdy—sin™ y dy =0 o3 eS80l HSDoédno Bng), FPES

Options:
- -1 —sinly
x=s5in " y—l+ece -
1.
| [ B . g
y=xy\l—y° 4smm " y+c
Z.
P | gin T ¥
X=l+sM " y+ee -
3.
| | 2
y=sm y-l4+xJ1-y" 47T
4
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Options:

i

Match the following fundamental forces of nature with their relative strength.

808 HEBHY B verodH TO FHE HEENS 2855H08.

A)

B)

C)

D)

List - 1/5¢3% -1 List - I1/¢3% -1

Strong nuclear force !

Pae Sod¥ wodn

Weak nuclear force m 1
208 Bod8 el

Electromagnetic force I10) 1@
DB, 08 DBW Q

Gravitational force ®’ 10713
68005 BeBw &)

The correct match 1s J
0G0 F'dod) @
A

A
I

A
I

A
Il

A

B € D
w1 I
C D
I W 1
BE € D
m vV I
B € B
n 1 1]
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Single Line Question Option : No Option Orientation : Vertical

I[dentify the incorrect statement among the following.

Bob T8 S0FToRh 57 w8 rhfodod.

Options:

A true length of 5.678 ki has been measured in two experiments as 5.5 km and
5.51 km respectively. The second measurement has more precision.

Soth RWArTod® ¥ D::'J@“g 5D 5.678 ki & Ssdm 5.5 km Sosose 5.51 ki
T BOQTE. Rotnes” Todd Fod Qé}z}ra’) g Sy 8O0 wod.

Lengths of 1 m and 0.5 m have both been measured with the same absolute error of
0.01 m. Both measurements are equally accurate.

FeEHeo 1 mB8aso 0.5 Mods o8 SE5ET180 0.@3&:‘ FO0TE. Toth Soden
LA ¥ Ch o
| BErSES cbw gl §005D. q/

The numbers of significant digits in 1. Gc;') 60 are both two.
1.6 %38c% 0.60 o&° é‘“t_:js’ @o8Sne\NoDsen Sodr BB,

The number 2.445 can be 1o % to two decimal places as 2.45.
o

Qopg 2.445 o Toko & o 245 :J‘rﬁéf}o S,

Question Number : 83 Question Id : 7512364243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ball-1 1s dropped from the top of a building from rest. At the same moment. ball-2 is
thrown upward towards ball-1 with a speed 14 m/s from a point 21 m below the top of
building. How far will the ball-1 have dropped when it passes ball-2. (Assume g= 10 m/s”)
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Rain is falling at an angle of 30° from the vertical uglfthe wind with a speed of 40 m/s.
A car 1s travelling horizontally in the direction ite to the wind, at a speed of 40 nv's.
Atwhat angle from the vertical will it experi Q}ﬁe rain falling from?
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Two touching blocks 1 and 2 are placed on an inclined plane forming an angle 60° with the
horizontal. The masses are m, and m, and the coefficient of friction between the inclined
plane and the two blocks are 1.5 p and 1.0 p respectively. The force of reaction between
blocks during the motion is (g = acceleration due to gravity)
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Three blocks are connected by massless strings on a frictionless inclined plane of 30°
as shown m the figure. A force of 104 N is applied upward along the incline to mass
m, causing an upward motion of the blocks. What is the acceleration of the blocks?
(Assume g =10 nv/s”)
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Consider a system of two masses and a pulley shown in the figure. The coefficient
of friction between the two blocks and also between block and table 1s 0.1. Fmd the
force. F. that must be given to the 0.8 kg block such that it attains acceleration of 5 m/s”.
(Assume g =10 m/s”)
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A box of mass 3 kg moves on a horizontal frictionless table and collides with another box
of mass 3 kg initially at rest on the edge of the table at height 1 m. The speed of the moving
box just before the collision is 4 m/s. The two boxes stick together and fall from the table.
The kinetic energy just before the boxes strike the floor is (Assume g = 10 m/s%)
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A ball of mass 2 kg is thrown from a tall building with velomry V=20 m/s }f +(24 mv/s) j
at time t=0 s. Change in the potential energy of the ba% t=8s1s
%

(The ball 1s assumed to be in air during its motion(,@r
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Three balls A. B and C of masses 50 g. 100 g and 150 g respectively are placed at the
vertices of an equilateral triangle. The length of each side is 1 m. If A is placed at (0. 0) and
B 1s placed at (1. 0) m. find the coordinates (x, y) for the centre of mass of this system of
balls
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Three bodies. a ring. a solid disc and a solid sphere roll down the same inclined plane
without slipping. The radii of the bodies are identical and they start from rest. If V.V and
V,, are the speeds of the sphere. ring and disc respectively when they reach the bottom,

then the correct option is
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A vertical spring mass system has the same time-period as a simple pendulum undergoing
small oscillations. Now both of them are put in an elevator going downwards with an
acceleration 5 m/s”. The ratio of time-period of the spring mass system to the time-period
of the pendulum is (Assume g = 10 m/s?)
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Consider a spherical planet which is rotating about its axis such that the speed of a point on

its equator 1s “V" and the effective acceleration due to gravity on the equator is % of its

value at the poles. What is the escape velocity for a particle at the pole of this planet.
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Consider a system of blocks X. A and B as shown in the figure. The blocks A and B have
equal mass and are connected by a massless string through a massless pully. The coefficient
of friction between block A & X and B & X is 0.5. If block X" moves on horizontal
frictionless surface. what should be its minimum acceleration such that blocks A and B

remain stationary. (g = acceleration due to gravity)
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How much pressure (in atm) is needed to compress a sample of water by 0.4%?
(Assume Bulk modulus of water = 2.0 x 10° Pa)
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The tension in a massless cable cnnuecte@ iron ball of 100 kg when it is submerged in
sea water s (p, =8 * 10° kg/m’ aﬂ%wm = 1000 kg/m’. g = 10 m/s”)
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The area of a circular copper coin increases by 0.4% when its temperature 1s raised by
100 °C. The coefficient of linear expansion of the coin 1s
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Single Line Question Option : No Option Orientation : g

: MCQ Option Shuffling: Yes Display Question Number : Yes
A 210 W heater 1s used to heat lﬂﬂ%mer. The time required to raise the temperature of

this water from 25 °C to 100 G%speciﬁc heat capacity of water = 4200 J/kg-°C)
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One mole of nitrogen gas being initially at a temperature of T, = 300 K is adiabatically
compressed to increase its pressure 10 times. The final gas temperature after compression 1s

(Assume nitrogen gas molecules as 1igid diatomic and 100% =1.9)
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Two gases A and B are contained in two separate, but otherwise identical containers. Gas A
consists of monoatomic molecules. each with atomic mass of 4 i whereas. Gas B consists
of rigid diatomic molecules. each with atomic mass of 20 «. If Gas A 1s kept at 27 °C, at
what temperature should Gas B be kept so that both have the same r.m.s. speed?
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Standing waves are produced i a-string 16 m long. If there are 9 nodes between the two

fixed ends of the string and the speed of the wave 1s 32 my/s. what is the frequency of the
wave?
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A highway truck has two horns A and B. When sounded together. the driver records 50 beats
in 10 seconds with horn B blowing and the truck moving towards a wall at a speed of 10 /s,
the driver noticed a beat frequency of 5 Hz with the echo. When frequency of Ais decreased
the beat frequency with two horns sounded together increases. Calculate the frequency of
horn A. (Speed of sound = 330 nv/s)
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When light of an unknown polarization 1s examined with a polaroid. it 1s found to exhibit

: ; . . 4 . i ik . . :
maximum intensity I, along y-axis and minimum intensity —> along x-axis. The intensity
i

transmitted through a polaroid with pass axis at 45° to y-axis (in Xy plane) is
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In a Young’s double slit experiment, ™ order and »™ order of bright fringes are formed at
point P on a distant screen. if monochromatic source of wavelength 400 nm and 600 nm

are used respectively. The minimum value of 2 and » are. respectively
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Two small conducting balls of identical mass 20 g and identical charge 107° C hang from
non conducting threads of length L =300 cm. If the equi]jbw separation of balls is x and

x << L, then the magnitude of x is (Assume 47 ,= Q’ F/mand g =10 m/s?)
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The space between the two large parallel plates is filled with a material of uniform charge
density ‘p’. Assume that one of the plate is kept at x = 0. The potential at any point ‘x°
between these plates is given by (A and B are constants)
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Identify the correct statement among the following.

Bod TIS* HBHS HEBHI0K KoGoBw.

Options:
Resistivity of metals decreases with temperature because more electrons are available
for conduction.
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Resistivity of metals increases with t@%amre because number of electrons

decreases. @
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Resistivity of metals illCl’E‘ﬂB&%h temperature because number of collisions between
electrons increases.
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Resistivity of metals decreases with temperature because superconductivity sets in.
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For the circuits A and B as shown in the figure. identify the correct option
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Crrcuit A 1s for accurate measurement of high 1‘719110: and B 1s for low resistance.
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Circuif A is for accurate measurem %ﬂw resistance and B 1s for high resistance.
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Both circuits can accurately measure high resistances only.
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Both circuits can accurately measure low resistances only.
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Two infinitely long straight wires A and B. each carrymg current I are placed on x and y axis

respectively. The current in wires A and B flow along — and ; directions respectively.
The force on a charged particle having charge ¢ moving from position # = d (f - j) with

velocity v=vi 18
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A long straight wire carrying current 16 A is bent at 90° such that half of the wire lies along
the positive x-axis and other half lies along the positive y-axis. What is the magnitude of

magnetic field at the point 7 = (—2f +0; ) mm. (Assume j—” =10 Hm™)
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The magnitude of the force vector acting on a unit length of a thin wire carrying a current
[ =8 A atapoint O, if the wire is bent as shown in the figure with a radius R=10 7t cm, 15
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A 10 Q coil of 180 turns and diameter 4 cm 1s placed @ﬂifm‘m magnetic field so that
the magnetic flux is maximum through the coil’s Crmfﬁ ctional area. When the field is
suddenly removed a charge of 360 puC flows tlu‘a:})gh a'618 Q2 galvanometer connected to
the coil, find the magnetic field:
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An mductor coil is connected to a capacitor and an AC source of r.m.s. voltage 8 V in
series. The r.m.s. current in the circuit is 16 A and 1s in phase with e.m.f. If this inductor

coil 1s connected to 6 V DC battery. the magnitude of steady current 1s
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Single Line Question Option : No Option Orientation : Ver

An electromagnetic wave of ﬁ'equﬁu%l AHz passes from vacuum into a non-magnetic
medium with permittivity € = 16@0. ere € ,1s the free-space permittivity. The change

mwavelength is &

Didgo 3.0 MHz Ko a8 Jeogliclhar) o8 ddoiio Trdgo oo, éﬂé&ﬁiﬁ € =16¢g,i®
50507, 08 FHrIEoSTIE HIVNE. R0HST €, ©IH WTESTO WHBIG. waE,
éﬁoﬁ@%o@ﬁ S0 80

Options:

75 m
1)

+75m
2.

50 m



+50m

Question Number : 115 Question Id : 7512364275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle of charge ¢, mass m and energy E has de-Broglie wavelength A. For a particle of
charge 2 ¢. mass 2 m and energy 2 E. the de-Broglie wavelength 15

DgTI¥o g, BSgore m HoBosw ¥§ E Ko 8 Swo, Gwo§), &-rdl S8oigdgoe A
Qeogarado 2q, Edgor3 2m 508050 8 2E do $e708 0B &-emol S80ipg go Qoo

Options:

Question Number : 116 Question Id : 7512@%6 Question Type: MCQ Option shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The collision of an electron with kinetic energy 5.5 €V and a hydrogen atom in its ground
state can be described as

A@xd§ 5.5 ¢V Mo af Jog, drgond” af) wi@ee H05rmge 0Rire )

& (Bod JPom HZoWIW).

Options:

Completely inelastic

SOPPOOIT WS IE0
; = &



May be completely inelastic

QOJYOIT WRBTVE0 5D
3 & o

May be partially elastic

FEB0IMT wSBPIB50 B HLN)

Elastic
D8 BEo
- o

Question Number : 117 Question Id : 7512364277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An alloy 1s composed of two radioactive materials A an ving equal weight. The half
life of A and B are 10 yrs and 20 yrs respectively. ime ‘¢, the alloy was found to

&

4
consist of [—J kgof ‘A’and 1 kg of B. If the at@c eight of A and B are same. then the

value of °7" is (Assume In 2=10.7) @C)

28 DFS SHTod’, o8 PrEing) a%v EBrTE STges A $o8050 B eo eaan.
A S08ai B o 9828 P@&)ém 10 Jodéoren, 20 Joddyoren. Fodsrwo
e

S8 DEd e A Jend [;J kg o, B Qend 1kg mdo ¢ramohd 88 am.

ve

A 508050 B o $657m sroren 880 wond, ‘F 2end, (In2=0.7 @ dsiroitiod)

Options:

77



7 YIS

7 Ddod&yoren

70 y1s

70 HodSTe \'0)
D

Question Number : 118 Question Id : 7512364278 Question Type: /Qgption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a zener diode is used as a regulator ner voltage of 10 V. nearly five times the
load current passes through the zener diode;"What should be the series resistance for the
zener diode. if load resistance is 2 k% the unregulated voltage supplied is 16 V

236 gz 10V m o ﬁoﬁ;ﬂ%@ﬂﬁ“ B36 dBr&d TEINE, TTY 2Bl s
DogEyTiro BIG $Bré ©7q0r 3Wod. &8 Ao 2kQ »od, S0 edlog edcho@s
S8z 16 V vow &o8, 858 $8r88 Jod @8 98¢0 Goddds?

Options:

, 500 Q

400 €2

200 Q

300 Q



Question Number : 119 Question Id : 7512364279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The logic circuit below has the truth table, same as that of

D 88, oo GBo¥), By HEE, & Bod 8¢), Sodiris Ko Dby HGES J8FDOW?

o »

Options:

NOR gate

NORET‘QE:SU
1.

NAND gate Q'\O’)
(1/

NAND oo

AND gate

AND oqdo @
OR gate
Ve

OR aeso

Question Number : 120 Question Id : 7512364280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A message signal is used to modulate a carrier frequency. If the peak voltages of message
signal and carrier signal are increased by 0.1% and 0.3% respectively. then the percentage
change in modulation index is

o8 T8 YT SrdogDE BoErad HoBF J08erd) Tderd. Hond Sosdo,
T8 Dosdow Ipd FPods S0Sm 0.1% So8ain 0.3% oo DodSY W, SordogBa
JrdsSt 500 Eﬁjféaoj FTHO JEND

Options:



0.4

1.
0.0
2.
—0.4
=,
—0.2
4,
Display Number Panel: Yes
Group All Questions: No

>

Question Number : 121 Question Id : 7512364281 Question Type: MCQ uffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From the following energy levels of h}fdl‘ﬂg&i@ﬂ, the values of E_ and E, in J are,

respectively &)

808 GRS HESrend ¥4 %mw@ E,, %8050 E; denden Jos* &b

&

E,=-0.545 x 1078 ]

E, =—-218x 1077

Options:

1. 02425 10

oo, —0.726 x 10718



: 0, —0242x107"8

0, —0321x107"®

Question Number : 122 Question Id : 7512364282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-1 List-11
A) Nodes Three dimensional shape of the orbital

B)  Subsidiary Quantum Number Significant only for motion of

microscopic objects
[w[2 1S Z€10

Spin state.of electron
Cnntilm@pectmm

QO
Bod T8 aEHdwdbw. &(l/

w38 -1 Q“ﬁ“é -1I

C) White light
D) Heisenberg uncertainty principle

sS=25 &%

A) Sfhew sOHLrS S0, BSTH W8S

B) &&80iE sotao Dopg v 1I) Qg Bero SO 8 S (830 rsdoopg e
C) Bud 508 Q/ ) [yl oy

D) oSed edpsds K‘:oﬁ:}@ V) dogs &) 8

V) @iﬁiﬁthéﬁl Slspelle

The correct answer is

HOGS BEPTHED

Options:
A B ©) D)
V) av) a @

A B) (©) D)
In av) v) d

z.



A) (B) (©) (D)
. @) @ am o

@ ® © O
LUS R

Question Number : 123 Question Id : 7512364283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which group of the periodic table the element with Z = 120 be placed?
Z =120 o Soros ) eS8 HPES® J (rYS' GodSay?
Options:

2
) N

Question Number : 124 Question Id : 7512364284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Common oxidation state of f-block elements is ITI. The other stable oxidation states of
%Eu and Tb are respectively

ferf Srore o wfEdn 6 I “Eu socin STbeo 288 b8 sfEdn bdw
S8R/

Options:
LIV
1.
V.11

2



o.v

V.II

Question Number : 125 Question Id : 7512364285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following species are diamagnetic?

He!.H,.H!.H;, He

$ob wrédeod” Q) doir wokhar) os en?

He!.H,. H!.H;. He

Options:

1

Ll

Question Number : 126 Question Id : 7512364286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following. hydrogen bonding is strongest?

& 1Bod TESY, BAS” TE°RI 200 OIIE?

Options:
O-H--N
1
O-H--0



Question Number : 127 Question Id : 7512364287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the approximate most probable velocity of oxygen? If the kinetic energy of one
mole of oxygen is 3741.3 J.

o8 3o w8 fe=¥s 3741.3 J wond m H0Q Soerdgs o Jos?

Options:

= O
438517 kg Q\'

A
48321 Tke! C)((/

2‘ N\
J155887 T kg Q/v
>, &%

3950 T kg

Question Number : 128 Question Id : 7512364288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the correction term in the pressure for real gas in comparison to the ideal gas?

BEGHTABNYE FNB eI oS0 D50 BB Hdo

Options:



2
an
RIIT

—nb

O

Question Number : 129 Question Id : 7512364289 Question Type: MCQ Opti '\ﬁling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- InalL vessel. 10 moles of methane and 50 mol og‘lf, are present. The number of moles

of O,. water and CO, present in the vessel arg/igs ctively after the vessel was heated to
burn methane completely.

2§ 1 L 3gs”, 103r6o 2085 ma?ﬁ 3rSe 0, dayon. JBH 363 HBSH
FOT S50 MV EHTE a{éﬁ $0%) 0, D& Ho80sw CO,0 Irdo Sopgen

SBSm /@
Options:

30. 20, 20
1

30, 20. 10
g

20, 30. 10
3.

20. 10. 30
4,

Question Number : 130 Question Id : 7512364290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the oxidation states of Mn when MnOj~ ion undergoes disproportionation reaction
under acidic medium

MnO;™ ©c5»8 sy Srskod” vshdd Sogh S*Sansdd Mn shEse Jdhos
%80 %50,

Options:

g

£ AR 5
2.

+4, +4

>
+7, +4 (1/

Question Number : 131 Question Id : 7512364291 Question Ty&omlon Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

Find the heat 1'eq11i1ed to make water
fusion of ice =333.55T ¢ Cp of

30 °C from 10 g of ice at 0.0 °C. (enthalpy of
=AW T X")

0.0°Cag S0 10ge moﬁaé\? s i E.’.‘rdé je &3 Srdnbso smHo0d €I oo,
(Sooth Boog), (BIFSE Jogrdy 333.55T g 8 0§, Cp=4.18Tg" K7

Options:

. 4.0kJ

Question Number : 132 Question Id : 7512364292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



For the reaction
0.5C(s)+0.5C0,(g) = CO(g)

the equilibrium pressure s 12 atm. If CO, conversion is 50%, the value of K . in atm is

§ob J8gso
0.5C(:)+0.5CO, (o) = CO()
D50eR8 LESsso 12 atm CO,BnY, Sreyd 50% wad, K deod atm os® Jo?

Options:

4
1.

O
, 03 QY
NV
- &
QO

Question Number : 133 Question Id : 7512364293 Question’ : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation :

What 1s the solubility product %Qdf calcium phosphate in pure water?
[S =molar solubility]

Hg WBS* 7Yoo QP";JO)S GTHedcsaE 8o (Ksp) O Es?
[S =3rerb T SBoss]

Options:

1 108 §°

s
=

6S°



121 §2
4.

Question Number : 134 Question Id : 7512364294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- What is the approximate volume (inmL) of 10 vol H,O, solution that will react completely
with 1 L 0of 0.02 M KMnO, solution in acid medium?

@é&:‘ 80”1 L 0.02 M KMnO, @S0 Jrom $dgTod 10 vol H,0, (&5
wornabirmo (ML ©¢®) Hodrdm:

Options:

, 26.05

Question Number : 135 Question Id : 7512364295 itn Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati tical

Which of the following pmg{ggu'e formed on hydrolysis of NaO, ?
NaO, & zediden mIQ AW ST Ja?

a) NaOH
b) H,0,
¢c) 0O,

d HO

Options:

a.d

1.

a.c.d
=z,



a.b.d

a. b;c

Question Number : 136 Question Id : 7512364296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The oxidation state (n) and coordination number (C.N.) of Al and number of valence electrons
around Al (N) in Al,Cl, are respectively

ALCL s* Al &8, 58880 28 () S8 ddodod Sopg (CN.) Sodadn Al g
) E:E-f{?g 35@35@ comg (N), ev 38&m

Options:

3, 3,6

a
:h-
(8]

Question Number : 137 Question Id : 7512364297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AH ;- values (in kI mol ™) for graphite. diamond and C &0 a1 respectively

¢, B50s 20aw Cgpo AH; dendes (kI mol™ we?) Sbm

Options:

iy 1.97 38 1
1

L 1 A



0:0:21.4

1.8;1.9.2.0

Question Number : 138 Question Id : 7512364298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the formula of the product formed when F~ reacts with enamel on teeth?

DY o JTnES F BEgToH bo’ﬁfﬁrﬁa Boiradgo T8 TRy,

Options:

CaS0,-Cak,
i 2

O
3Ca, (PO,),- PF, (§'
Ca SO, CaF Q,/&

T 2 C)

3[Ca, (PO,),-CaF,] Q/?‘
P

Question Number : 139 Question Id : 7512364299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following methods can be used to find out the percentage composition of
halogen present in an organic compound?

808 TES* 2.8 TONIE FIWRISNGS'Y TS Do FEINK EDOTSLE GO How
D88 8?7

G
Options:

Kjeldahl method

Zerds HOS
(i L



Dumas method

drgidor HAS
[

Lassaigne’s method

@‘:@5 ﬁcé}e".%

Carius method
s8000 &-::é &
4,

Question Number : 140 Question Id : 7512364300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following reactions produce alkane as t]@duct‘?

QO

8ol Woged® e G&yHhom J6PDE 4 ﬁ()/
| Q.0 Ca0 Q
L R-COONa+NaOH—=2— @

ﬁf <&

Zn—Hg
I. CH,CCH, W@
(reeg)

I gHCc=ccH 20y

CH,
I

iV CH.—1C—6—220y

I
CH,

Options:

LILIO



LIOLIV

LILIV
I OL. IV

Question Number : 141 Question Id : 7512364301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are not aromatic?

§0d THS® w8 5r8E 57D AD?

A) @ Q@
0) Q/?~ D) al
E) @@ F) D:e

Options:

A CE
1.

B.E.F

B.C,F



C.D.E

Question Number : 142 Question Id : 7512364302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following compounds show ferrimagnetism?
Fe,0,; MgFe,0,; NiFe,0,; MnO; Cro,
§ob 78S AQ) ITFT e B BdbIYosSoD PEGTon?
Fe,0,: MgFe,O,. NiFe,0,: MnO: CrO,

Options:

1

Question Number : 143 Question Id : 75123 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical

The molality (in mol kg™) of 1 mole of solute in 50 g of solvent is:

50 g o (@T3BS° 1 3rS @850 G508 0 3rerdd (mol kg™ oes’):

Options:

10



40

Question Number : 144 Question Id : 7512364304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The freezing point of solution containing 10 mL of non-volatile and non-electrolyte liquid
“A” in 500 g of water is —0.413 °C. If K; of water is 1.86 K kg mol™ and the molecular
weight of A= 60 g mol™, what is the density of the solution in g mL™"?

(Assume A __V=0)

500 g o 8S* 10 ML © 28 wardyte vdhgd IFLg (o “A” fo BP0 IS
Fdo —0.413 °C. 265 K, de0s 1.86 K kgmol™ 58050 A eevzrdo = 60 gmol™ eond,

O

T Fogd (gml™ o) Jog?
(A_. V=00 a8 550)

Options:

L3 &‘1,

o &
- 3
0.90 Q/v

0.993

Question Number : 145 Question Id : 7512364305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A current of 19296 C is passed through an aqueous solution of copper sulphate using
copper electrodes. What 1s the mass (in g) of copper deposited at the cathode?

(molar mass of Cu= 63.5 g mol?)

19296 C o &ghdo 5736 JoF e Ho 5756 ée‘_‘rio)nf 2O THo Dol Sonowdl.
6 I8 8T 57N (KHg073 (g ©7) Jod?
(Cu3rers @Hg0°8 =63.5 gmol™)

Options:



3.17

1.58

0.79

Question Number : 146 Question Id : 7512364306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a zero-order reaction, the correct expression for @'ﬂnstaﬂt (k) at half-life time

(T}g ) 1s (R, = initial concentration of reactant) &

&

BTAENY 500 (T}/z} 58, w8 Q) Badoro ¢ Btw Q0058 (k) 585308 dangdmo
(R, = Eosrassly &0 mes) Q/VN
Options: &%

Ry

B

s 2.303




k=—""1log[R,]

Question Number : 147 Question Id : 7512364307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is used as an evye lotion?
Bod THS® D& Eold STAST Tdhad?

Options:
milk of magnesia

Ebﬂﬁar es5 E.ofﬂ” ovhy @
$

silver sol &
&

5 08 TS @
colloidal antimony J

Ferondd 50830

chromium salt sol

1.

Bhodho oldw FS

Question Number : 148 Question Id : 7512364308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify A and B respectively in the following reactions.

4Au(s) + 8CNT,,) +2H,0(aq) —2£1 A(aq) + 40H],

l Zn(s)
B+ 2Au(s)

(ag)

Bob Sfged” Adndoin B ol Hhiohdn.
4Au(:0)+8CN[,,) +2H,0(x 0)—2T) 5 A(xe) +40H],

lzm@}
O
B+ EAu(zQ'\/

Options: &(1/

.|:All(CN)2:| | Zn(CN), T Q/
Au(CN), : [zn(cN), ] ({/?~
e

(zo)

2.
HCN : [Au(CN),]™
=
AuCN : [HCN]
4

Question Number : 149 Question Id : 7512364309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (A) : Sulphur vapour is paramagnetic.
Statement (B) : Reaction of dil. HCl with finely divided iron forms FeCl, and H, gas.

D58 (A) : TR Sy Horchdyodhv.
D58e0 (B) : By ered 08S8° DOS HCl $56gTos FeCly obain H, csuyois
50,

The correct answer 1s

HOGY BITETEB0

Options:

Statement (A) 1s correct, but (B) 1s wrong. q
D58 (A) 685088 0 (B) 805056 5. Q’\'

1.

Both the statements are correct. Q//&

Tols dJ8ws ﬁ&q@oa’}i}. @
5

Statement (A) 1s wrong. but (B&5 Lorrect.
DS @*}ﬁaéﬁéﬁ‘TﬁgffﬁxB)ﬁaéﬁﬁﬂ-

&

Both the statements are wrong.

Told ST S8 T Y.

Question Number : 150 Question Id : 7512364310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reason for the noble gases to have low boiling and low melting point is

26 TanYesh vy Dl FITw Hidin vo) EATSS Faren Godob S¥bw

Options:



Atoms of the noble gases have weak covalent interaction

26 oo JHbSrmoHoh pward JHBradoh gl S toirown.

Atoms of the noble gases have weak dipole interaction
28 FAnHo JEIrpPOR perS BEd el Wegen wotrow.
Z
Atoms of the noble gases have weak van der Waals interaction
28 FoNdo HirmHod 2oTs Tkl TS oy $8gen & okrown.

=

Atoms of the noble gases have weak dispersion forces

28 ToduIHe HESrmHo peird I a:-@e_zt*bérm:;.
4,

Question Number : 151 Question Id : 7512364311 Question Type: MCQ OUptlom Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical &

Pl
&



. Match the following / (o& o7¢3Q 2268 H80wH S0,

List-1/56% -1

List- I1/5¢38 -1

(Metal ion) / (%5 @ci>3) (Color) / (o)
AY o™ ) Yellow
5509
B) Fe* ) Darkgreen

O M

1

The correct answer is
ﬁa@:é 0T LT 00

Options:

A B € B
¥V W @I m
A B

=
H O
=2 U

= O

B0 8D

III) Blue

RS
Q’\r

Q@%@é SESRIN)
N
s
Y~



Question Number : 152 Question Id : 7512364312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following complex has the highest magnitude of Crystal Field Splitting
Energy (A,) ?

§od TES edaE $YBE §E s 1§ (A) H0Sr@o Ko Hoghsn J6?

Options:

[Co(H,0), ]

-[CG(NH?,]JH

-[CG(CEOJJB_ @
-{{101:5]3— &@

Question Number : 153 Question Id : 7512364313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A polymer contains 50 molecules with molecular mass 5000. 100 molecules with molecular
mass 10.000 and 50 molecules with molecular mass 15,000. Calculate number average
molecular mass?

0.8 FOMSS” Trerd EHg0r2 5000 do weoPHen 30, Irerd GHgore 10.000 Ko weanen
100 208050 36 (55078 15.000 o weodes S0 ean)om. Dt Sopg @ BS50°E
S oTod.

Options:



5.000

75.000

z

10.000

20.000
4,

Question Number : 154 Question Id : 7512364314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are reducing sugars?
sucrose Maltose Lactose tose

(A) (B) (©) Q )

(1/

808 TES* FoEGe $B S0 D7 Q’/\
BE'S SrS°E &g SEE

(4) B) «© (D)

&«

, A.B.D

A D

B.C.D

Question Number : 155 Question Id : 7512364315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify opiates from the following
Codeine Thymine  Epinephrine
(A) (B) (©)

808 >BS* LGB KBoN0s
)
(A) (B) (©)

Options:

i B N O
1.

C.DLE

B.E.F

A B.C

Morphine
(D)

; R

Question Number : 156 Question |d : 7512364316
Single Line Question Option : No Option Orientati Vrtical

&

Thiamine

(E)

GoSoad®
(E)

Heroin

(E)

[Foplonlov TS ]

(E)

ich Type: MCQ Option Shuffling : Yes Display Question Number : Yes



Match the following.

Bod T80 BSBEIT0DW.

List-1 List - IT (Major product)
erda -1 e - Il (D578 edydo)

A) CH,—CHBr—CH,Br—XOWGHOH | 1)  °Alkyl bromide

18,8 508

B) .CHa_CHE_CH:CHz (Cﬁﬁi{,}ﬁ ) 2°-Alkyl bromide
KBS ©8
C) 'CH,_,,CHECHg—B‘?J’L} @\'A]lyl bromide
V ©TE ('PE

| A
D) CH,-CH=CH,—>= Q((/ IV) Alkenyl bromide

The correct answer 1s Q/

DOGVE JBIrFTrBw

s 35 @6

Options:

A B
T | Y

= 0
= O

A B C D

_ 1l I I

A



Question Number : 157 Question Id : 7512364317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the suitable product for the following reaction.

8o WogS” J0GH wd$Hndo EoAHok.

2 (i) HyO/H®
Options:
R—-CHO
1
B ~0OH
2 https://exams.freshersnow.com/¢ategory/entrance-exam-question-papers/
. R- COER

R\H/O\H/R

O O

Question Number : 158 Question Id : 7512364318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What is the product “E™ in the following reaction ?

o 1:5659.‘3‘ “E” oo ﬁé&éﬁ_lﬁm RTAY
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The decreasing order of acidic strength for following acids 1s

§obd sdre wd wwo &7 Eddw

a) CH,COOH

b) CH,CHCICH,COOH
¢) CICH,COOH

d CLCHCOOH

Options:

(b)> () > (a) > (d)

S
(d)>(c)>(b)>(a) q/Q

3

A
(d)> () > (©) > (a) QQQ/
' v

©>(d)> ) > () &

4 &g
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. Identify X. Y and Z respectively in the following reaction sequence

Bob WogEdonnd” X, Y. Z oo S05m o,

' : - 1) NH;. 2) A 4
: sX +Y +
Acetic acid 3) Col S0, X 7

Pyridine/343K
(&0&a)

Options:



C,H.SOH _. CH,NC . HCl

I
CH,CONH - S—C.H; . HO . HCI
I i
O
CH.SOH : CH,CN . HCl
CH.S0,Cl : CH,NC (\/Q H,0



